Year 8 - Mathematics . . .
Milestone Assessment 1

_ . . . S Pty W 1
| mmmnr Like a Mathematician I | Soke problems vith firance |
| _ __ Profit- hcome. - Costs | _
I Balance - The amount of money in a bank account (in financial questions) [ _ 515 I
| _— Credt — Money comwg o an accourd H_
| Credit - Morey coming into an account I
I I I — Debt — Movey kama on accourd _ I
Debit - Money leaving an account I I |
| I Morey uses a two decmdl pace atem |
| Negative - A value less than zero; has a minus sign | | W2 onacakudor represents £ B0 |
[ I I
“ Factor - Non-decimal values that multiply together to get another value | | Dﬂ.uﬂ;lg_._-l_ﬁalilﬂﬂ!_
I
I t_ur.ﬂ..n Common Factor (HCF) = The biggest factor two or move numbers share | s s s e |_
| -
“ t:.._.zw_n = Found by multiplying any integer by positive integers | “ _ . _ |
| Highest Common Facter (HCF) - The biggest factor two or move numbers share | | “
I | ++ —» +
| Base - The number that gets multiplied by a power | _
I Index - (indices) The number that tells you how many times to multiply the base by itself | _ |
- e = I
| standard form - A system of writing very big or very small numbers “ | + _
|
“ Significant figure - The most important figures (digits) to signify the size of the number I | = t — - “
| Approximate - To estimate a number, amount or total by rounding | “ ega=-dandb -4 |
__|||Il||||||||||||||||||||||_ __.q..u.x..__.._l.: ..-hu_ _
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Start at 1 and write the fmctor pair opposite
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Bar mocels can represert by somelhra s armulple Ea 20 £ 6 mulpke of 4 _
|
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_ a _4.. |1._._ L“n\_ _L-h_. Y] —.E.a
“ Check every number. HCF=8
|

— I?u_.a"_u: mmn!;w?.nu you _p:::_..unt kave all m,!nﬁu_‘“.
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FPr¥ — 3

=lvbxbxbxbx3xbxb

| |
I
| ’
[3x 3x 303 Y2323 _ 4bx 2a Strdt _ 36 3
R — _ =4xbx3na =5xtxdxt | 1X3NEN3
: 4l | =4x3xbxa =9x9xtxt I .
con o gk | = Ua = 45t _ u.n,__u\lt Fxaxaxaxphp Iltﬁ.a
Cickition bw for s _ | Bab 3x e bxbxbxbxbxb =
|
h-—“ﬂ_._l.-.—.l..: I |
_ Pl o There are ot _ ot concelires Toclors shows concels The expesson
_ _
| I
| |

i —— 3 mnh%;;;;;z Hﬁ,ﬁhwﬂwﬂ”ﬁ
Ix3x3uns _nu\ll-.. “'—.h = T poawers Tl The expreseon covol be duded
v E 30 | e ———————— _ _.._._u|m__ﬁ learcelien down) boas? thre dre
[ L _ Sdbe o commen {ackons o ol leme
Rt s o special indices laws L
) [ Model ! I
amzgn=gmn - I
_ “ Arything to the power 0 =1 70 = 1 | ===~ -==-------------------- -
b ) '\ Product law “
_ I 1 Arything to the power 1= itself "“ |
(4= 4 m
Tt ot el o a1 " By - L “
| Standard form vith rumbers >| (@)= a _
I
_ Oy ruarbey - Ory mleger i _{.:_:15 the indices, rmm1 the base the |
“EJE &c\.i.: x o " same |
_w.m..:ﬁ\_ 0 L o o e e e e e e e e e e e — e e ———
| ==
ot ﬁ.ﬂﬁﬁ | Posttive powers of 10
| 32x0°
| =32 0x 0x 10x 10 | 1bdlon - 1 000 000 000
|- uua_a Ox 0x 0x 0x 10x10x OxDx OxI0= 10

| Odltion ruke for indees (0« [0 = 10

| Subtraction ruke for indees 10 - 1(F = 10

_ e e — — — — — — — — — — —— - |
.| B -| gﬁ....v.ng_.-ﬂ.

“ S =% vill the rumber be. = > or < than | “ _I__.—-__.Hml Ialwﬁlgl IMM_.M_I ||||| I

I 0,064 240 | 0.13 Use o place vate g to compare the. | “ "_

_|||||||||||||||||||||||M-HBH¢\__ ||||| L_ | 0.004 . T HIH.H % E_B 1|

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII “ 5.4 x 10~ r ® 0 10+ 0 I

_mﬂaﬁgiﬁﬂn_%a ¥ W ruer & hafy beteen e ‘oo 37010 | sonfcant fiare & 400
AT to | sanfeant figure 5 40

Ll
I
“ #4495 (o the nearest, 1000 %474 to fhe nearest, 100 4TS 1o the rearest 10 Tt _mﬁ.mhiﬁﬁ_.n _W.__.nm# _ | {0 reaative power does not mean a regglne I
| : : L 037 to | senifcart 04 B
| @D 1 wo W0 1B %0 T G (571, et fare r 00005 | L e b o 00|
_ _ Foure T the. frid mon-eive merber _ “
e H|I|I|H|I|I|H|I|I|H_ |||||||||||||||||||
| Round to | significant figure | e ————————— ;
“ 37010 | sgnficant figre & 400 " | Estimation
| 3710 lsgnfeant fare 5 40 | Randtothefistrn | | | Estmatiors are usefl - especilly when usrg fractions
| 37to | sgnficant figre 5 4 2eforumber | | and decmaks o check if you sobion & possbe
| 037 to | sgnficart figwe s 04 I _
round 1o | fi
| 000000037 to | snfant figwre s 00000004 | st estmalers curd o | sfeant figre
[ mm e e e e e Estimaliors are 152Ul — especial) when 1sng fraclions
_gﬁﬁg Round to | sgnfeant figre to estmate ard decmak 1o check £ yowr solibion & posstie

42467 ~4+7 =l Tres o ooestite recise e 67w o g move T

_
_
|

_ l/_uf ol s changes to dhow € & an etmalion

| Al4x3| =20x3 =60 "= o underestmale oo ol ke e o down
|

|

|

|

Thes & true becase even f both rumbers
were rounded up, they woud reach

300 + 400
L s good 1o check dl cabublons wih on estimate n dl aepects of maths — The correct estimation would be
helps you identify caeulation errors 200 + 900 = 1100
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Year 8 - Mathematics . . .

'ATHERTON

HIGH SCHOOL

Milestone Assessment 2
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mwnnw Like a Mathematician

3D - Three dimensions to the shape (length, width and height)

Face - A flat surface on a solid object

Plan - A drawing of something when drawn from above (sometimes birds eye

view)

Scale - The comparison of something drawn to its actual size.

Scale Factor - The multiple that increases/ decreases a shape in size
Commutative - Changing the order of the operations does not change the result

Square root - A square root of a number is a number when multiplied by itself
gives the value _T___”_

Square - A term multiplied by itself

Ratio - A statement of how two numbers compare

I
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I
I
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I
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|
I
I
I
|
|
|
I
|
1
| Proportion - A statement that links two ratios

“ Part - A section of a whole

| Equivalent - Of equal value

“ m:ﬁﬁ:mﬂ - Toreduce to mm_.:_u_»m._.. form

| Factors - Integers that multiply together to get the original value
“ Currency - The system of money used in a particular country

|

Conversion - The process of changing one variable to another
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| Representing 4 ratio  %or eveny 5 bous there are 3 9 The epeserts e 9 bos Doutle NomberLre |
“ The & the “whole” — bous and oy looeter . . ) I
| .‘ 1 \ _ The i the I
I . “hoke” |
| . _ bog drd vk |
— . 1 . J i . ] —u%._-unw_. _

. I
“I Tres represenis he S bag  Ths represents the 3 g The represeris the 3 gk _
 vror i bt and Moo ot TiRdtio mlornd 7
 Order is Important __gsiaa Cancel down the rao 1o s owest form __na_o nfor n:l) _

T £ askra wou to carcel down unli the. port

“ ﬂﬂ,gﬂ&__ﬁﬂtﬂnﬁ. _“ ﬂagﬁ&aigiﬂ*izﬂs‘ k : qaﬂmaﬂwﬁw.ﬂb.ﬂ “
| W Do Cais L @A. CITTTTT T frotesdteomon |1 g the rdio 420 nthe catoof n | |
| _b __ 1 T I v g | factor .r....fr..ll.__ __ _
_ e & fan an pads of the o T e o _
| Tre o has to be willenn the | | b2 . teband |11 2 - 4:20 - |

) _ For § and 4 the asest stales thal tE.k
_ same order a6 the rformaion & | | _H_H_H_ 111 factor (rurber tral || twpat 6|

anen | u ~ H _ _ _ rubighes o theme & 1 s 1o be ' |
_ e 2 | would represent 2 dogs for ““ . o . [ I T _
2R _ ar.,...}. x VEry O g oF ke ot u.r‘.. ar — wen e ey wee The rdo becores & _ _ i’.&. e n pa _.1{“_ —D......._H-._...n. _
e e e e e e e T
llllllllllllll SETEEEEEEEEEmm_—_—_——
“ Shargavhoe o aguenratio || Frdngavale gven Infornl | | Divect Proportion (= o et s e ces s .|
| Joes: ond Luoy shave. £350 n the rale 34 I Ve a box are ble and red pere nithe vdlic 51 | | | the same rale / “
I \wiork oul inow much each person eams __ ¥ thee ae 1 _.wbvu”ﬂm*ﬁﬂ.sdu_.m PErE NE | “ ﬂ .——*ﬂ‘-ii —
| Model the Questn Jares “_ here _ | o |
— - t COE O POy L | .
| sl T, - 1 oG e 100"
| .w_” EEEE £3% || Bie Red —_— I o e i P £240 o _ 2 cars of pop = £720 |
| — 1 U” _ - I n.“.ﬁ.pi‘mﬁ.ﬂ...ﬂ...ﬁ.u.._ & _
I Luey Il b ‘/ oevt | ! Sometmes the & eapest | |
| Find the vake of one. part £990-T=£% I D ~oepat  Fed pers « 1 pers I The mulipler  tre some if you work oul how much |
| e £35 []-oep I opem I i the some way thal the one uni & worth frst |
| 7 parts to share between ,.u..n..q I | | woukd be. for ratio 24 _saalsg |
_ 3 larws 4 1y £50 __ E B pere = 5x 10 = 50 pere _ _ —
| At bk e qsen I e Bt ettt lesteientey
_ PSP | . _ H
| s oy e e I % | "Qiﬁge&gan :
I{x% U ) A. x%0 I A UD_. __D Redpere - [x 0 Opere | _ ( petwre of a cor 5 dewin with a scae of 130 1
MEBOE200Y ol | | 1
I ...:.....«..-..n..mtJ. ___.ni.ﬂ_ﬂ.glgnE _ _ __
L———_——————————— e————————————— ] _ For every lom on my moee I
llllllllllllll = —_——— e e e e e = —— 4 A 'y
| Understand Scak Factor | | Rato between simior shapes | e Il
I
(s v omkr dhapes db ol o _ _
" The two rectangles ane sirmlar, “ " V% ._...ﬂ..u_JH.H .mquu:.“u __.Nu..._hrw. _ _ “ “
rol ap abowe 1B |
| €@ 9 | p e {1 The oo mage & b:
_ Bm : [ 1 Tt e ] em mage Eeal ife 1
| |l = Ll o btn em Y= ||
_ 3x 13-45 / | | Comesporeing ses "1 e I = \pllem 300em ¢/ = I
_ Mesantbdedwy || RGP P G B * -y _ | 1l
| - comespondng g L S SN | Thecarneealke e |
_ e q._u cobukde a - - _ _ 'hg T.—-.k..\.a.H m._mr.- _T. _ _
| scake factor _ b 3em Ty < Il
_ | _ - fom AW cm ) I
| e foctor cor o0 Bigger conespondng sie _ _ I
_ be cacuoled by Smaler comespardng side _ L I
T T e e e S
| . || Comerson betweencurerces St = |
| Smal correspondng s B correspondng sde | “ £1=90 Rupees ¢—— ._.tEE..mEﬁ...r proportional
[ I - _

£10 = 900 Fupees

UENd 4 converaon araph

I
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_ Wg \ _ Carvert 630 Fupees nlo Pounds _

_ . Y ;
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